CONTRACT NO. 7232

BID OPENING DATE: MARCH 28, 2014

Badgerland Excavating Corporation -

		Parisi Constr	uction Co., Inc.	Non-responsive Bid	Sand & Gravel Inc.	Raymond P. Cattell Inc.	R.G. Huston Company, Inc.
Item	Quantity	Price	Extension	Price	Price	Price	Price
Section B: Proposal Page 10702.0 - TRAFFIC CONTROL FOR							
STORM SEWER INSTALLATION - LUMP SUM 10703.0 - TRAFFIC CONTROL FOR	9.00	\$1,400.00	\$12,600.00	\$2,850.00	\$2,000.00	\$1,800.00	\$1,136.00
WATER MAIN INSTALLATION - LUMP SUM	1.00	\$1,500.00	\$1,500.00	\$2,200.00	\$2,000.00	\$1,500.00	\$1,500.00
10720.0 - TRAFFIC CONTROL SIGN - PORTABLE ARROW BOARD - DAYS 10721.0 - TRAFFIC CONTROL SIGN -	20.00	\$39.25	\$785.00	\$75.00	\$38.00	\$38.00	\$38.00
PORTABLE CHANGEABLE MESSAGE - DAYS	10.00	\$100.00	\$1,000.00	\$125.00	\$100.00	\$100.00	\$100.00
10750.0 - RESET MONUMENT - EACH	4.00	\$85.00	\$340.00	\$250.00	\$500.00	\$225.00	\$500.00
10801.0 - ROOT CUTTING - CURB & GUTTER - LF	200.00	\$11.75	\$2,350.00	\$8.00	\$5.00	\$5.00	\$14.00
10912.0 - MOBILIZATION FOR STORM SEWER INSTALLATION - LUMP SUM	9.00	\$5,000.00	\$45,000.00	\$5,500.00	\$8,800.00	\$9,000.00	\$2,560.00
10913.0 - MOBILIZATION FOR WATER MAIN INSTALLATION - LUMP SUM	1.00	\$30,000.00	\$30,000.00	\$2,500.00	\$5,000.00	\$9,665.00	\$18,503.00
20101.0 - EXCAVATION CUT - CY	100.00	\$11.50	\$1,150.00	\$15.00	\$17.00	\$10.00	\$14.00
20202.0 - FILL, INCLUDING TOPSOIL - CY	50.00	\$9.30	\$465.00	\$20.00	\$20.00	\$10.00	\$16.00
20221.0 - TOPSOIL - S.Y.	240.00	\$3.60	\$864.00	\$20.00	\$4.50	\$5.00	\$6.40
20312.0 - REMOVE CATCHBASIN - EACH	4.00	\$420.00	\$1,680.00	\$750.00	\$450.00	\$460.00	\$453.00
20313.0 - REMOVE INLET - EACH 20314.0 - REMOVE PIPE - STORM - LF	5.00 172.00	\$420.00 \$15.50	\$2,100.00 \$2,666.00	\$750.00 \$8.00	\$400.00 \$10.00	\$350.00 \$21.81	\$400.00 \$19.00
20321.0 - REMOVE CONCRETE PAVEMENT - S.Y.	110.00	\$3.90	\$429.00	\$20.00	\$5.00	\$18.00	\$8.00

BID OPENING DATE: MARCH 28, 2014

Badgerland Excavating Corporation -

				Non-responsive	Sand & Gravel	Raymond P.	R.G. Huston
Item	Quantity	Parisi Const Price	ruction Co., Inc. Extension	Bid Price	Inc. Price	Cattell Inc. Price	Company, Inc. Price
20323.0 - REMOVE CONCRETE SIDEWALK AND DRIVE - SF	200.00	\$1.00	\$200.00	\$5.00	\$2.00	\$1.00	\$5.00
20701.0 - TERRACE SEEDING - SY	340.00	\$2.10	\$714.00	\$1.00	\$3.00	\$3.00	\$7.40
21013.0 - STREET SWEEPING - LUMP SUM	9.00	\$930.00	\$8,370.00	\$250.00	\$800.00	\$1,000.00	\$300.00
21031.0 - INLET PROTECTION, TYPE C - COMPLETE - EACH	10.00	\$130.00	\$1,300.00	\$100.00	\$50.00	\$50.00	\$150.00
21035.0 - INLET PROTECTION, TYPE C MODIFIED - COMPLETE - EACH	46.00	\$180.00	\$8,280.00	\$200.00	\$65.00	\$60.00	\$75.00
21041.0 - INLET PROTECTION, TYPE D - COMPLETE - EACH	10.00	\$210.00	\$2,100.00	\$100.00	\$140.00	\$100.00	\$150.00
21052.0 - POLYMER STABILIZATION, UNDISTRIBUTED - SY	100.00	\$1.00	\$100.00	\$0.25	\$1.00	\$0.10	\$0.75
21055.0 - INLET PROTECTION, TYPE D HYBRID - COMPLETE - EACH	101.00	\$260.00	\$26,260.00	\$175.00	\$150.00	\$100.00	\$205.00
21062.0 - EROSION MATTING, CLASS I, URBAN TYPE A - S.Y.	240.00	\$2.10	\$504.00	\$1.50	\$2.50	\$3.00	\$5.00
30122.0 - 1/2" REINFORCING STEEL - LF	100.00	\$0.50	\$50.00	\$3.00	\$1.00	\$1.00	\$1.00
30201.0 - TYPE "A" CONCRETE CURB & GUTTER - LF	50.00	\$13.75	\$687.50	\$28.00	\$21.00	\$12.00	\$23.00
30301.0 - 5" CONCRETE SIDEWALK - SF	1000.00	\$4.30	\$4,300.00	\$5.10	\$3.50	\$3.50	\$4.30
30302.0 - 7" THICK CONCRETE SIDEWALK AND DRIVE - SF	500.00	\$5.00	\$2,500.00	\$5.40	\$4.00	\$3.50	\$4.50
30330.0 - PROFILE CURB CUT - LF	25.00	\$25.75	\$643.75	\$25.00	\$40.00	\$10.00	\$37.00
30340.0 - CURB RAMP DETECTABLE WARNING FIELD - SF	504.00	\$7.30	\$3,679.20	\$5.25	\$5.00	\$5.00	\$5.00
40101.0 - CRUSHED STONE BASE COURSE - TON	100.00	\$11.25	\$1,125.00	\$12.00	\$10.00	\$10.00	\$16.00

BID OPENING DATE: MARCH 28, 2014

Badgerland Excavating Corporation -

				Non-responsive	Sand & Gravel	Raymond P.	R.G. Huston
	O		ruction Co., Inc.	Bid	Inc.	Cattell Inc.	Company, Inc.
Item	Quantity	Price	Extension	Price	Price	Price	Price
40251.0 - HMA MATERIAL FOR CURB FRONT FILL - LF	1000.00	\$3.85	\$3,850.00	\$5.00	\$1.00	\$3.00	\$5.00
40362.0 - ADJUST ACCESS STRUCTURE CASTING, RESURFACING - EACH	134.00	\$420.00	\$56,280.00	\$400.00	\$400.00	\$400.00	\$540.00
40363.0 - ADJUST CATCHBASIN CASTING, RESURFACING - EACH	3.00	\$430.00	\$1,290.00	\$400.00	\$450.00	\$450.00	\$710.00
40364.0 - ADJUST INLET CASTING, TYPE "H", RESURFACING - EACH	17.00	\$260.00	\$4,420.00	\$350.00	\$325.00	\$300.00	\$820.00
40365.0 - ADJUST INLET CASTING, "TUB" TYPE, RESURFACING - EACH	1.00	\$720.00	\$720.00	\$350.00	\$500.00	\$650.00	\$1,500.00
40366.0 - REBUILD INLET - RESURFACING - EACH	2.00	\$1,200.00	\$2,400.00	\$1,500.00	\$800.00	\$1,500.00	\$1,830.00
40367.0 - ADJUST VALVE CASTING, METHOD #1 - RESURFACING - EACH	223.00	\$170.00	\$37,910.00	\$200.00	\$250.00	\$225.00	\$255.00
40368.0 - ADJUST VALVE CASTING, METHOD #2 - RESURFACING - EACH	5.00	\$170.00	\$850.00	\$250.00	\$225.00	\$225.00	\$440.00
40369.0 - INSTALL ADJUSTABLE VALVE BOX RISER - EACH	5.00	\$76.00	\$380.00	\$80.00	\$100.00	\$50.00	\$200.00
40371.0 - REBUILD ACCESS STRUCTURE TOP - RESURFACING - EACH	1.00	\$1,000.00	\$1,000.00	\$750.00	\$1,000.00	\$750.00	\$1,520.00
40382.0 - REMOVE AND REPLACE CONCRETE CURB & GUTTER, HAND PLACED - RESURFACING - LF	6335.00	\$35.75	\$226,476.25	\$32.00	\$31.00	\$38.00	\$33.00
40391.0 - REMOVE AND REPLACE 5" THICK CONCRETE SIDEWALK - RESURFACING - SF	1550.00	\$7.80	\$12,090.00	\$6.50	\$6.00	\$7.35	\$7.55
40392.0 - REMOVE AND REPLACE 7" THICK CONCRETE SIDEWALK AND DRIVE - RESURFACING - SF	7114.00	\$7.20	\$51,220.80	\$7.50	\$7.00	\$7.50	\$6.80

BID OPENING DATE: MARCH 28, 2014

Badgerland Excavating Corporation -

		Davisi Canata	wation Co. Inc	Non-responsive Bid		Raymond P.	R.G. Huston
Item	Quantity	Parisi Consti	ruction Co., Inc. Extension	Price	Inc. Price	Cattell Inc. Price	Company, Inc. Price
50211.0 - SELECT BACKFILL FOR STORM SEWER - T.F.	7230.00	\$0.50	\$3,615.00	\$0.10	\$0.10	\$0.10	\$0.01
50225.0 - UTILITY TRENCH PATCH - TYPE III - T.F.	4962.00	\$27.00	\$133,974.00	\$30.00	\$33.00	\$17.00	\$20.15
50227.0 - UTILITY TRENCH PATCH - TYPE IV - T.F.	4464.00	\$1.00	\$4,464.00	\$7.50	\$5.00	\$3.00	\$9.15
50390.0 - SEWER ELECTRONIC MARKERS - EACH	2.00	\$37.75	\$75.50	\$25.00	\$40.00	\$32.00	\$43.00
50411.0 - 12 INCH RCP STORM SEWER PIPE - LF	2320.00	\$41.00	\$95,120.00	\$42.00	\$49.50	\$50.00	\$59.15
50412.0 - 15 INCH RCP STORM SEWER PIPE - L.F.	2345.00	\$41.75	\$97,903.75	\$44.00	\$52.20	\$52.00	\$56.30
50413.0 - 18 INCH RCP STORM SEWER PIPE - L.F.	1741.00	\$44.25	\$77,039.25	\$48.00	\$54.80	\$55.00	\$56.00
50415.0 - 24 INCH RCP STORM SEWER PIPE - LF	158.50	\$49.25	\$7,806.13	\$54.00	\$60.40	\$102.34	\$62.50
50418.0 - 36 INCH RCP STORM SEWER PIPE - LF	260.50	\$76.00	\$19,798.00	\$68.00	\$91.80	\$107.40	\$89.70
50434.0 - 29 INCH X 45 INCH HERCP STORM SEWER PIPE - LF	514.50	\$100.00	\$51,450.00	\$94.00	\$117.90	\$149.04	\$112.00
50499.0 - CONCRETE COLLAR - EACH	2.00	\$400.00	\$800.00	\$500.00	\$450.00	\$500.00	\$500.00
50723.0 - 3X3 STORM SAS - EACH	31.00	\$1,900.00	\$58,900.00	\$2,000.00	\$2,100.00	\$2,000.00	\$2,480.00
50724.0 - 4X4 STORM SAS - EACH	3.00	\$2,400.00	\$7,200.00	\$3,500.00	\$2,400.00	\$2,200.00	\$4,270.00
50725.0 - 5'X5' STORM SAS - EACH	3.00	\$3,200.00	\$9,600.00	\$4,600.00	\$3,000.00	\$3,252.90	\$5,190.00
50741.0 - TYPE H INLET - EACH	52.00	\$1,900.00	\$98,800.00	\$1,875.00	\$1,650.00	\$1,500.00	\$1,800.00
50792.0 - STORM SEWER TAP - EACH	7.00	\$900.00	\$6,300.00	\$725.00	\$700.00	\$700.00	\$865.00
50793.0 - PRIVATE STORM SEWER RECONNECT, TYPE 1 - EACH	1.00	\$1,900.00	\$1,900.00	\$500.00	\$1,100.00	\$750.00	\$1,545.00
50801.0 - UTILITY LINE OPENING (ULO) - EACH	46.00	\$600.00	\$27,600.00	\$380.00	\$425.00	\$450.00	\$245.00

BID OPENING DATE: MARCH 28, 2014

Badgerland Excavating Corporation -

		Parisi Const	ruction Co., Inc.	Non-responsive Bid	Sand & Gravel Inc.	Raymond P. Cattell Inc.	R.G. Huston Company, Inc.
Item	Quantity	Price	Extension	Price	Price	Price	Price
70001.0 - FURNISH AND INSTALL 4 INCH PIPE & FITTINGS - L.F.	100.00	\$92.00	\$9,200.00	\$65.00	\$91.00	\$109.61	\$110.15
70002.0 - FURNISH AND INSTALL 6 INCH PIPE & FITTINGS - L.F.	100.00	\$95.00	\$9,500.00	\$75.00	\$85.00	\$93.58	\$126.00
70003.0 - FURNISH AND INSTALL 8 INCH PIPE & FITTINGS - L.F.	60.00	\$98.00	\$5,880.00	\$100.00	\$97.60	\$150.42	\$148.20
70004.0 - FURNISH AND INSTALL 10 INCH PIPE & FITTINGS - L.F.	25.00	\$100.00	\$2,500.00	\$120.00	\$148.35	\$182.94	\$415.00
70005.0 - FURNISH AND INSTALL 12 INCH PIPE & FITTINGS - L.F.	1940.00	\$77.00	\$149,380.00	\$94.00	\$110.00	\$124.08	\$124.10
70030.0 - FURNISH AND INSTALL 4-INCH WATER VALVE - EACH	2.00	\$1,700.00	\$3,400.00	\$1,200.00	\$1,320.00	\$1,229.41	\$1,070.00
70031.0 - FURNISH AND INSTALL 6-INCH WATER VALVE - EACH	5.00	\$1,800.00	\$9,000.00	\$1,500.00	\$1,525.00	\$1,370.18	\$1,240.00
70034.0 - FURNISH AND INSTALL 12- INCH WATER VALVE - EACH	4.00	\$3,700.00	\$14,800.00	\$3,000.00	\$3,380.00	\$2,939.16	\$2,830.00
70040.0 - FURNISH AND INSTALL HYDRANT - EACH	4.00	\$3,600.00	\$14,400.00	\$3,900.00	\$4,115.00	\$3,852.66	\$3,130.00
70053.0 - REPLACE 1-INCH COPPER SERVICE LATERAL - L.F.	80.00	\$110.00	\$8,800.00	\$72.00	\$101.65	\$71.28	\$131.00
70056.0 - EXTEND AND RECONNECT 1- INCH SERVICE LATERAL - L.F.	170.00	\$55.00	\$9,350.00	\$55.00	\$88.00	\$76.96	\$144.00
70057.0 - EXTEND AND RECONNECT 1 ½-INCH SERVICE LATERAL - L.F.	25.00	\$79.00	\$1,975.00	\$88.00	\$106.70	\$120.61	\$161.50
70058.0 - EXTEND AND RECONNECT 2- INCH SERVICE LATERAL - L.F.	50.00	\$91.00	\$4,550.00	\$100.00	\$133.30	\$144.74	\$194.00
70059.0 - DISCONNECT / RECONNECT 1- INCH SERVICE LATERAL - EACH	11.00	\$630.00	\$6,930.00	\$680.00	\$750.00	\$846.32	\$632.00
70070.0 - SELECT FILL - SAND FOR WATER - L.F.	2470.00	\$1.00	\$2,470.00	\$1.00	\$0.10	\$0.10	\$0.01

BID OPENING DATE: MARCH 28, 2014

Badgerland Excavating Corporation -

				Non-responsive	Sand & Gravel	Raymond P.	R.G. Huston
•		Parisi Construction Co., Inc.		Bid	Inc.	Cattell Inc.	Company, Inc.
Item	Quantity	Price	Extension	Price	Price	Price	Price
70080.0 - CUT-IN OR CONNECT TO EXISTING WATER SYSTEM - EACH	5.00	\$1,600.00	\$8,000.00	\$800.00	\$2,000.00	\$1,750.92	\$1,150.00
70081.0 - FURNISH EXCAVATION AND DITCH FOR LIVE TAP - EACH	1.00	\$2,300.00	\$2,300.00	\$2,500.00	\$1,300.00	\$1,641.43	\$725.00
70082.0 - CUT OFF EXISTING WATER MAIN - EACH	1.00	\$1,600.00	\$1,600.00	\$750.00	\$2,200.00	\$1,003.12	\$940.00
70090.0 - ABANDON WATER VALVE BOX - EACH	6.00	\$170.00	\$1,020.00	\$200.00	\$175.00	\$121.34	\$130.00
70091.0 - ABANDON HYDRANT - EACH	2.00	\$390.00	\$780.00	\$500.00	\$425.00	\$626.75	\$360.00
70101.0 - FURNISH AND INSTALL STYROFOAM - L.F.	176.00	\$19.25	\$3,388.00	\$5.00	\$12.00	\$13.40	\$12.10
70102.0 - LANDSCAPE RESTORATION FOR WATER MAIN - L.F.	65.00	\$30.00	\$1,950.00	\$10.00	\$15.00	\$20.00	\$16.00
70105.0 - PIPE PLUG FOR WATER MAIN INSTALLATION - EACH	2.00	\$330.00	\$660.00	\$500.00	\$900.00	\$360.90	\$815.00
90001.0 - BUS PAD - S.F.	1120.00	\$8.70	\$9,744.00	\$7.00	\$6.50	\$10.00	\$4.90
90030.0 - STORM SEWER TAP (BOX CULVERT) - EACH	1.00	\$1,700.00	\$1,700.00	\$1,500.00	\$1,250.00	\$1,803.17	\$2,880.00
90031.0 - STORM TREATMENT STRUCTURE - EACH	1.00	\$24,700.00	\$24,700.00	\$52,460.00	\$27,710.00	\$26,864.29	\$30,400.00
90032.0 - RELOCATE SANITARY SEWER LATERAL - EACH	2.00	\$1,700.00	\$3,400.00	\$250.00	\$2,500.00	\$3,969.54	\$4,580.00
90033.0 - 12" RCP FIELD BEND - EACH	1.00	\$1,300.00	\$1,300.00	\$1,000.00	\$750.00	\$830.72	\$920.00
90034.0 - 15" RCP FIELD BEND - EACH	1.00	\$1,300.00	\$1,300.00	\$1,000.00	\$870.00	\$1,000.00	\$930.00
20311 - REMOVE SEWER ACCESS STRUCTURE - EACH	1.00	\$457.00	\$457.00		\$425.00	\$433.16	\$815.00
TOTALS	Totals		\$ 1,579,409.13	\$ 1,633,089.00	\$ 1,729,297.90	\$ 1,737,905.77	\$ 1,801,482.30